Limits for Practice

A. Now you try some!

T T 11 l_;;gé T 11

Determine if the following limits exists:
1. lim f(x) 2. lim f(x) 3. limf(x)
x——3 x——2" x—0

4. lmf@) 5. limf(x) 6. lim f(x)



clim,, s f(x)=3

2, lim,, f(x)

DNE (“Does
not exist”)

lim f(x)

x—=0

= -1

11_1’1} f(x) DNE

lim f(x)

- x—2

=0

lin; f(x)
= -2
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Limits for Practice

B. Now you try some!

1. lim,_.. (2x+5)

2. limg.g 8(t—=5)(t—7)

x+2

3. lim i
X72 x245x+e
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1. 2c¢+45

3. 1/5
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C. Now you try some!

x%43x—5

1. lim,__
X275 T xt7

. x+3
2. lim,., s
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. 52

2. 5/8
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D. Now you try some!

2x%—7x—15
xX-5

a) limy.g

) x¥-1
b} lim,_.q o
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E. Now you try some!

x+2

1. ]iIllxa—zm

Vx+10-3

x+1

2. limy._,
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F. Now you try some!

. sin 3x
1. lim,_g

lim Sx*—4x®-1
=17 g x—9x2

. e*

3. 11111x_,mx—3

4, limy . x*=Inx
1

G, Mg g x>

. VxFd-3 1
6. Why does the lim,_._; ——— not equal /2»"??

7. Early in their presentation of limits, most teachers present the following two limit facts as

. . sin@ . cosB—1 . . .
special cases: 111119_,OT =1 and 111119_,OT = 0. Verify each by using L'Hopital’s

Rule.
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3/4

3/7

0 (gets larger and larger without bound; technically this limit DNE)
DNE — cannot take the logarithm of negative values

1

Upon substituting -1 into the numerator and denominator, we do not get one of the
indeterminate forms; therefore we cannot use L'Hdpital’s Rule. More advanced
methods need to he used.
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G. Now you try some!

1.

2x3—2x+5

limy_o——————
X770 ) 3x3 a2 —5x+13

lim sl
A=t s arta

. 2%
limy— o =

. 2%
limy .y e =

limy——o —3x%+2x2 —4x+5
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